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1 213 4 5 6 7 8 9 110 |11] 12 13 14 15| 16 17 18 19
Binobepesbke | 4 24| 6,1 | - - - 10C3+/13 76 10,7121 22 24 330 3e|BCP A 35
Binobepesbke | 4 | 281 2,1 |(2)] 1.4 1,4 10C3 711081} 25 30 430 3¢| BCP| =m E 25
Q
Binobepesbke | 8 {39} 1,2 | - - - 9C31Bay 1101 0,6 | 2| 28 36 360 3e{BCP Eg 40
=
. 5C3(91)4C3(60) 2.2
4 91 - - - 91 712 2 ¥ a
binobepesbke | 161 1 0, 1C3(120)+Bn 0, 3 30 310 3el| BCP i% 20
g Q o
Binobepesbke | 18 { 11| 3,8 | - - - 7C3(96)3C3(70) 9 { 0,7 1] 27 36 380 3e|BCP| 2 S = 35 é
] Q S
 binobepesbke | 18 [ 12] 2,0 | - - - 8C3(110)2C3(80) 110{ 0,6 | 2] 28 36 395 3e|BCP| & :g E 40 E
5 O
Binobepesbke | 191 6 | 3,5 - - - 10C3+bn 86 | 0,7 ] 1 26 32 400 3e¢|BCP| & §' S 40 ;
=
binoGepesbke | 19| 9 | 0,5 - - - 10C3 76 1 0,6 { | 24 30 310 3e| BCP 3 = 30
Binobepesbke { 1910} 0,4 | - | - - 10C3 8 10,61 1] 25 30 320 3e{ BCP ez § 30
BinoGepesbke { 21 | 16} 0,8 | - - - 10C3 86 [ 0,711 28 28 440 3e¢| BCP g; 30
binobepesbke | 22 | 14 1,6 | - - - 8C3(110)2C3(80) 110 0,7 2| 27 36 370 |3e|BCP| = § 35
binobepesbke | 22 [ 16| 4,1 | - - - 10C3 9 [ 0,7 1] 28 32 420 3ej BCP 30




0bepesbke | 22 |21 1,1 | - - - 10C3 110 06§ 2] 27 36 330 3e{BCP| ;= 50
Binobepesbke | 23 | 16| 5.8 [(2)] 4.9 4.9 10C3 911071} 27 32 400 3e¢|BCP § 25
binoGepesbke | 35| 9 | 1.8 | - - - 10C3+bn 71108 1| 25 28 430 4¢| BCP iE . 20
BinoGepesbke | 36 | 5 0,2 - - - 10C3+bn 3810811 15 14 210 4 ¢| BCP § g 30
BinoGepesbke | 50| 5 | 44 | - - - 9C31d3+bn 66 | 0,713 17 20 180 4¢| BCP :.'.: = 35
BinoGepesbke | 52 [ 4 | 1.5 | - - - 10C3 86 | 0,7({2| 24 30 360 4¢| BCP E _§ 30 .
BinoGepesbke | 57| 8 | 5.3 [(3)] 4.3 43 10C3 86 10,7 1| 26 30 400 4e|BCP| -2 & 25 ;
Binobepesbke | 57 [ 17| 2,2 | - - - 10C3 80 10,72 22 26 300 4e| BCP E ? 30 E
Binobepesbke | 65 [ 12| 0.4 | - - - 10C3+]13 66 | 0,81 1] 21 | 24 340 4¢| BCP § é 40 ;
BinoGepesvke | 69 [ 2 | 1,0 | - - - 10C3+Bnu 8 10,71 1| 28 36 440 3 | BCP § § 15
BinoGepesbke | 73 | 25| 3,0 | - - - 9C3(85)1C3(100) 8 10,7 (1] 25 28 400 4¢| BCP § :g' 30
binobepesbke | 73 {26 4,1 [(3)| 2,1 2,1 7C3(91)3C3(70)+bn 91 06|11 26 36 310 4e| BCP o & 30
binoGepesbke | 81 23] 0,8 | - - - 10C3 81 | 0,611 26 30 340 4¢| BCP é < 35
BinoGepesvke | 89 8 | 64 | - - - 10C3+bn 86 1083 21 24 315 | 4e| BCP % 20
binoGepesbke | 90 [ 26| 1,6 | - - - 10C3+bn+/13 8 10,6 1] 25 32 320 4¢|BCP . 30

Paizom -1 -1666 | -] 12,7 12,7 - | - - |- - - - - - - - -

JleoHiBcbke 5 (21 1,1 ] - - - 10C3+/13+bn 91 10,611 29 32 410 3e|BCP 30
JleoHiBchke 12 25| 0,6 § - - - 9C31bn+/13 76 1 0,7 |1A| 28 | 30 400 3e]| BCP :Eoi 20
Jleonisebke | 15[ 10] 42 ()| 1,5 1,5 10C3+MI3+bn+0c 8 | 07]1] 28 | 30 442 4¢|BCP §‘ 10
Jleoniecske | 15[ 19] 3,1 | - - - 7C3(66)2131C3(50)+bn | 66 | 0,7 [1A| 26 28 370 4¢|BCP| = 20
Jleoniscoke | 16 [ 23| 4,1 | ()| 2,5 2,5 7C3(81)3C3(95) 81 | 0,6 [IA] 28 30 390 4¢| BCP § 10
Jleoniscbke | 19 {1 13] 1,1 | - - - 10C3+bn 76 | 0,8 |1A} 28 32 470 4¢| BCP E - 25
Jeoniscbke |20 1 | 10,0 |(3){ 6,7 6,7 10C3+bn+/13+0c¢ 81 [0,67| 1} 27 32 408 4¢| BCP §' é 10
Jleonisebke | 20| 22)] 0,6 | - - - 10C3+/I3+bn 76 [ 0,6 | 1] 26 28 355 4e|BCP| & § 15 °

TNeonipevke |21 4] 26 [ - | - - 10C3+Bn+]I3 81 [07[1A] 28 | 32 440 [4e|BCP| E = 10 5

Jleonisebke [ 251 1 { 0,7 | - - - 10C3 8 | 061 1| 28 30 380 4 ¢} BCP é ig 25 E

Jleonisebke |27 {13{ 0,9 | - - - 10C3+][3+0c¢ 8 | 0,81 1] 26 30 460 4¢|BCP 3 2 30 3

Jleowiacbke [ 27 [ 18] 1,1 | - | - - 10C3+Bn+Is grlo7]1] 25 | 32 300 |4e[BcP| £°E E :

Jleonisebke | 341 16) 2,3 | - - - 9C31/13+bn 86 10,7t | 2% 32 400 4¢|BCP ‘3; é 30

Jleoniscuke | 39 {25) 0,6 | - - - 10C3+bn+/13 96 | 0,61 1] 28 32 380 4¢| BCP ‘58? ° 15

Jleoniscbke | 40 | 4 | 3,0 | ()| 2.8 2,8 10C3+bn 7110912 20 22 370 4¢| BCP 5 15

Jleonircwke | 40| 16| 04 - - - 10C3 76 | 0,7 J1A] 27 30 410 4¢| BCP % 25

Jleonircbke | 41) 7| 12 | - - - 10C3 66 | 0.8 1| 23 26 390 4e|BCP § 20

Jleoniscoke |41 11| 2,2 - - - 10C3+]13+bn 76 1 0,8 {1A| 27 30 480 4¢|BCP S 15

Jleoniscbke | 42 (451 0,7 | - - - 5C35bn+3+0c¢ 36 1071 1| 15 16 160 4 | BCP 10




.<OHiBcbke | 45 (26 1,1 - - - 9C31bn 76 10711 24 28 360 4¢| BCP 30
Jleonisebke | 47 (221 2.8 |(2)] 2.6 2,6 10C3+bn+/I3 76 1081 24 28 410 4¢| BCP ;’Ef 25
Jleoniscbke | 50| 4| 0,7 | - - - 10C3+bn 9% {052 23 32 250 4¢| BCP g— 20
JleoniBcbke | 50 | 13 ] 5,1 - - - 10C3+/13+bn 71 | 0,8 [1A] 26 30 450 4¢| BCP ,: 20
JleoHiBCbke 501181 1,2 - - - 10C3+bn+/13 76 1 0,8 | 1 25 28 435 4¢| BCP § 20
Jleonisckke | 50 | 20| 1,5 - - - 10C3+ /13 66 | 0.8 |1A| 26 28 450 4e{ BCP ,é R 25
Jleoniecbke | S1{ 24 0,9 1(2)|] 0,8 0,8 10C3 76 [ 0,71 25 28 390 4¢| BCP e é 30
Jleoniscbke | ST 11| 1,6 | - - - 10C3 86 10,71 1] 26 30 420 4¢| BCP ‘:’ g 30 °
Jleoniecbke | S1 |21} 4,9 |(1)] 4,1 4,1 10C3+/I3 66 |08 1 23 24 390 4¢e| BCP g = 15 aE
Jleoniscbke | 52 2| 2,1 | - - - 9C31bn 66 | 0,7 |TA] 25 26 360 4¢| BCP _E ’g 25 E
Jleoniscbke | 52 | 8 3 (@) 3.8 3.8 10C3 66 10,71 24 28 360 4¢| BCP E % 15 -
Jleoniscbke | 52117 1.2 | - - - 10C3+bn+Bau 76 10,711 25 28 380 4¢|BCP ;:f 'g 25 =
Jleoniscoke | 57 2 | 3,3 [(2)] 3,1 3,1 10C3+bn 76 10811 24 28 400 4e¢| BCP g § 20
Jleoniscbke | 57| 3 | 3,1 | - - - 10C3+bn 81 10,8 [ 1] 25 30 410 4¢| BCP ‘§ © 15
Jleoniscbke | 571 5| 1,8 | - - - 10C3+bn 810811} 25 30 410 4¢| BCP g 25
Jleoniscbke | 84 [ 18] 1,7 |(3)]| 0,7 0,7 10C3+bn+Oc+/lz | 86 | 08| 1| 26 28 454 4e| BCP % 50

3C3(80)2/13 g
Jleoniscoke | 84 120 7.4 | - - - 1C3(131)2bn(65) 80 1071 25 32 320 4¢| BCP S 15
10¢1bn(80)+Bau

Pa3zom -1 -1852) -1 286 28,6 - - - |- - - - - - - - -
Maxkapiecoke | 5 [ 14] 29 | - - - 6I330c 1 13 45108121 17 16 220 4¢| BCP Lox = 40
Makapiscoke | 19 121 43 - - - 9C31bn 66 10811 23 26 370 4¢|BCP (= é %‘ 20
Makapiscoke | 24 [ 21| 40 | - | - - 6C3(80)2B"§3C3(60)+0°+ 80|07 |1| 26 | 30 330 |4e|BCP % 2% | s 2

e K .2

Makapiscbke | 25 (23| 4,2 | - - - 10C3 7110711} 24 28 360 4e¢| BCP ‘é g § g 35 g
Makapiscbke | 39 { 131 2,5 | - - - 1043 76 10712 20 20 230 4¢|BCP %E § 3 15 s
Makapiscbke | 47| 6 1,3 | - - - 10C3 76 10,81 1] 25 32 430 4¢|BCP|E § :é 25 =
Makapisebke | 47| 71 1,6 | - - - 10C3+/13+bn 71 1071 23 26 340 4¢|BCP § 5 §- 25
Makapiscbke | 48 [ 15| 2,1 | - - - 10C3 76 1 0,81 1 25 28 430 4e¢| BCP 65

Pazom -l - 2209 - - - - BEEE - - - | - - -
OGyxoeuupbke | 37| 3 | 80 | - | - - 7]1333+Kar+Oc 140 0,5 2| 27 46 220 4 |BCP| =  =§ 40 o
Obyxoeunbke | 631 7| 2,5 | - - - 6J131JInalOcIl31 43 851062 26 32 260 4e| BCP E ég g g 60 é
Obyxosnuske | 63 [ 12] 64 | - | - - 7]132031 S13+Bn 95 {05 1] 28 | 44 250 |4e[BCPIEEEEd 50 =
Obyxosuupke | 64 [ 12] 0,6 | - - - 10C3+3+bn 71 10,714 25 28 380 4elBCP| 5 2 g2 40 3
ObyxoBuubke | 66 { 17] 3.5 - - - 7C32A3113+bn 64 { 0,9 |1A] 26 28 405 4ei BCP 40 8




oyxoBuubke | 82 1 7 1,0 - - - 10C3 90 | 0,7 ] 1 28 28 450 3e| BCP g 40
Obyxoeuubke | 821 9| 34 | - - - 10C3+]13 8 10,71 28 28 465 3e| BCP E g 35 o
Oobyxosuubke | 82 | 14 1.9 - - - 10C3+bn 95 10,71 1] 29 32 460 3e| BCP 2 % g 30 uz
Obyxoeuubke | 82 | 161 1,7 | - - - 10C3 95 (06| 1| 28 32 380 3e| BCP %g ; 45 E
Obyxosuutbke | 83 | 8 | 3,3 1(2)| 2,7 2,7 10C3+/13 90 10,7111 29 36 420 3e|BCP| £ é 53; 35 S
Ob6yxoeuubke | 84 1 121 10,3 [(2)] 9.3 9.3 10C3+/13+bn 76 | 0,7 | la| 27 28 420 3e| BCP é S‘}‘ ) 30 B
Obyxosuibke { 97| 4 | 4,8 [(2)| 3.8 3.8 9C31bn+/I3 66 | 0,8 |1a| 26 28 430 3e|BCP g 35

Pasom -l -1474] -1 158 15,8 - - - 11 - - - -l - - - -

OpaHcbke Py 1| 3,0 - - - 10C3 60 | 0,7 1| 21 24 305 4¢| BCP x5 £ 25

Opatcbke 1121100 - - - 10C3 60 10,71 20 26 280 4e|BCP| 5 $z 20 o

Opancbke 5134 93 | - - - 10C3 66 10,711 22 26 320 4¢|BCP| & 2_ § = 15 §

Opanceke | 5 [ 4] 223 ] -] - - 10C3 66 |08 [2] 20 [ 24 300 J4e|[BCP|5 &2 £ 15 =

OpaHcbke 91121 29 | - - - 7C3(85)3C3(45) 8510713 21 32 240 4¢| BCP é é .E" i 20 ;

OpaHcbke 41191 84 || 7.6 7,6 10C3+/13 66 § 0,8 {1A] 26 32 465 4e|BCP| 533 20

Opanceke | 50| 3 | 10,1 || 9.3 9,3 10C3 95 10,62 26 36 350 3e[BCp|* 3 & 35

Pasom - -]1660) -1 169 16,9 - - - 1- - - - - - - - -
Po3sakiscbke | 3 | 11 1,1 - - - 10C3+bn+/13 711061 1| 22 32 290 4¢|BCP| m 60
Posaxiscbke | 3 [ 12] 1,2 10C3+/13+bn 61 {062 18 22 220 4¢| BCP E E 40
Possaxiscbke | 6 | 8 | 0,7 - - - 10C3+bn+/13 66 10,6 1| 24 28 320 4¢| BCP -E § 45
Possaxiscbke | 6 [ 12| 0,3 - - - 10C3 66 061 1] 23 28 325 4¢| BCP E :f E 40
Possaxkiscoke | 221 7 | 0,7 - - - 10C3 66 {0,712 20 26 300 4¢| BCP g :é_ CE 30 §
Possaxkiscbke | 26 | 23| 1.7 - - - 10C3 76 10,7111 24 28 410 4¢| BCP § E ;“ 30 §
Possaxiscbke | 42 [ 12] 2,2 | - - - 10C3 61 10,6 1A 23 26 320 4e|BCP § § E 25 £
Poseaxiscoke { 44 | 4 | 04 | - - - 10C3 51 (0,6 [1A] 22 24 315 4e|BCP| 3 2 2 20
Possaxiscbke | 47 | 191 6,6 - - - 10C3+bn 81 10,612 23 28 305 4¢) BCP g é 20
Poszsaxiecbke | 61 | 1| 2,2 | - - - 10C3 76 1 06| 1] 25 36 330 4¢| BCP z é)i 30
Po3saxiscbke | 68 | 10| 3,0 | - - - 10C3 541061 20 28 240 4¢|BCP| * 30

Pa3zom -1 -1201] - - - - - - - - - - - - - - -
Denesuupbke | 2 |34 2,0 1 (2)] L1 1.1 10C3 96 | 0,6(3] 22 32 240 2e} BCP ;g 45
Denesnubke | 3 |26 0.9 | - - - 10C3 9 | 0,72 23 32 350 2e|BCP|, g @ §" 30 o
Denepnupke | 3 | 27] 43 | - - - 10C3 8 [ 08| 1| 28 38 510 2¢| BCP g’ § § ’g 20 g
Benepnunke | 4 126 4.8 |(2)] 4.3 4,3 10C3 91107111 29 36 440 2e|BCP § Lgn 'g % 15 E
®eneuubke | 4 [27] 03 | - | - . 10C3 91 07| 1] 27 36 420 2 [BcP| 5 T & 10 -
DeHeBULbKE 4 1281 0,2 - - - 10Bau+Cs 46 1 0.8 | 2 19 18 200 2 | BCP ;2; 15




LEHEBULIbKE 815 4,0 - - - 9C31Bny 86 | 0,7 |1A} 30 40 465 2¢| BCP . 5 20
denepuupke | 11| 51 10,0 1(2)] 9.3 9.3 10C3 91 (0,751 2| 25 26 390 2e|BCP| ¢ 20
denepuubke | 11111 9,1 |(3)| 7,7 7,7 10C3 86 1 0,7 | 1 27 28 420 2e| BCP g é 20 .
®enesrupke | 23 | 8 6,3 | - - - 10C3 91 | 0,5 1A}l 30 36 340 3e|BCP| %2 _ 15 3
tdenesuubke | 109 2 | 18,5 | (3)| 3.0 3,0 10C3 81 (08 ]1]| 24 28 390 4¢| BCP % g g 30 =
®enepnupke | 109 8 | 5,0 [(3)| 2,0 2,0 10C3 8 [ 0,7] 1] 26 28 400 4¢| BCP é E i} 30 ;
@enerupke |111] 1| 3,6 [(2)] 2,6 2,6 10C3k+bn 57 10,6 [1A] 22 22 305 4e| BCP g g 20
Oenesuubke | 111] 5| 3,3 | - - - 9C3k1bn 57105 1| 21 22 280 4e| BCP g 2 15
®enepuupke (117 1| 4,8 | (2)] 2.9 2,9 10C3 86 [ 0,711 27 32 410 4e| BCP g 20

Pazom -1 -1 77,1 F -] 329 32,9 - - - |- - - - - - - - -

Bcesoro: -1 -13853} - | 1069 106,9
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